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For complete credit, show all work

i

At noon Air Trump is 400 miles north of Wilmington traveling south at 300 miles per hour while Air
Clinton is 300 miles west of Wilmington traveling east at 230 miles per hour. At what rate is the distance
between the two planes changing at noon.
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A spherical balloon is being filled with water at the rate of 2 cubic centimeters per second. At what rate is
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the radius increasing when the radius is 5 centimeters. Note that the volume of a sphere is ¥ = —z-*
where r is the radius of the ballon
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In problems 5-10, calculate the derivative of y with respect to x.
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MAT 161 Test 2 Name é‘

Fall 2016 Version 2

For complete credit, show all work.

1. Atnoon Air Trump is 400 miles north of Wilmington traveling north at 300 miles per hour while Air
Clinton is 300 miles west of Wilmington traveling east at 230 miles per hour. At what rate is the distance
between the two planes changing at noon.
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2. Calculate the linearization of f(x)=x* at a=38 Then estimate (8.03)* using the linearization.
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A spherical balloon is being filled with water at the rate of 3 cubic centimeters per second. At what rate is

\b\ the radius increasing when the radius is 10 centimeters. Note that the volume of a sphere is V = §71r3
OW Vv X % w \'3

ﬁ?’ 3 2 6d

wa s

41 ¢
de 2 L e [:3
[,u’ . ﬂ 3 11‘11‘ A1) %

3
’b{ﬁ: » ‘-?;C’{_;Dz) - ,bOA3EY %\./M

where r is the radius of the ballon.



In problems 5-10, calculate the derivative of y with respect to x.
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S(x) = tan(x) + v1+5x* (7x + 3),
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